Algebra II Classwork/Homework						Name: _________________________
Long Division Review							Date: __________________________

Long Division: Examples
Example 1: 3640 divided by 15
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Example 2: 1598 divided by 34
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On Reverse: Long Division: Practice (Complete as Homework!)
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153640 15 g00s into 36 two tmos,so puta 2above the 6.
-30 15x2-30

“Tako that 30 awayfrom the 361 getyour remainder
36
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24
Next,carrythe 4 down to make 64.
15| i 16 goos nto 6 our imes, 0 puta 4 above the &
30 15x4=60
64
60

“Tako 60 from the 84 to gotyour romainder
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18] Carrythe 0 down tomake 40.
-30 15 gous into 40 two tmes, 50 put a2 above the 0.
[y 15x230
- 60

Tako 30 from the 4010 getyourremainder.
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34into 15 dossn't o, 50, 50 ook at the next digit.

How many times does 34 go nto 1592 You may not be.
ablo 0 do this in your head, 50 use tial and error and
‘multply 34 by various numbers to get a close answer.
f we multiply 34 by 4 we gat 136. We put a 4 over the S
‘and then writa 136 under the 159.
34xa=136

Tako that 136 away from 169 to get your remainder.
159-136=23

"Naxt, carry the 8 down to make 236.
We now have  new numbar: 238. We need to work out
"how many times 34 goes into this numbe by rial and
‘orror again.
3472238, s0we write 7 over the 8.t tho top.

Now we have our answer: 47.
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